
V-Twin Mfg.
Chrome Bolt Cap 77 Piece Cover Kit 

For use on 2004-up XL
VT No. 37-9532

This is a custom application and rider safety depends on proper installation. This product should
only be installed by a knowledgeable and trained motorcycle technician. V-Twin Mfg. accepts no
responsibility for improper installation.

77 pieces covers engine, transmission and primary 
Pack-1 - CHROME 3/16" (WRENCH SIZE) SOCKET HEAD - ALLEN BOLT COVER
16 Around the primary cover 
13 Right side gear case cover 
8 On the top of rocker box covers 
1 Speed sensor bolt behind the starter housing 
1 Front left side on the crankshaft position sensor 
8 Lifter cover push rod bolts right side 
4 On the front of the lifter covers 
1 Right side underneath gear case cover 

Pack-11 - CHR 7/16" (WRENCH SIZE) HEX BOLT/NUT COVER
1 Behind the primary cover on the grounding bolt behind the starter housing 

Pack-12 - CHR 1/4" (WRENCH SIZE) TORX BOLT COVER
2 Air cleaner mounting bolts 
2 Left side on the shifter rod bolts (Forward controls only) 

PACK-5 - CHROME 5/16" (WRENCH SIZE) SOCKET HEAD - ALLEN BOLT COVER 
2 On the top motor mount bolts left side behind horn 
1 Right side exhaust to gear case mounting bolt 
1 Right side front exhaust bracket bolt under the gear case 
1 Right side exhaust mounting bracket bolt behind the gear case 

Pack-6 - CHROME 1/2" (WRENCH SIZE) HEX BOLT/NUT COVER
5 On the left side engine case bolts 

Pack-7 - CHROME 5/16" (WRENCH SIZE) TORX BOLT COVER
4 Upper front cylinder tie-link bracket to frame engine mounting bolts 
4 Lower front cylinder tie-link bracket to frame engine mounting bolts 
1 Left side on back of the primary cover lower frame to engine mounting bolt 

Pack-17 - CHROME 5/8" HEX BOLT/NUT COVER
1 Left side on the underside of the primary cover

Note:
All bolt and screw caps should be installed with clear silicon.
Silicon is not included in the kit


